Polishuset falt 29/9 2015 Klass C

1|Peter Hjortstam 62| 6(3|4(4| 10| 6|4|6|2|(6|3[6|4| 15|6|4| 46| 26| 25| 72
2|Kristian |Gunnarsson | 6| 2| 6| 3|53 12| 5|4|6[2|6|3|6|4]| 16| 6| 4| 46| 25| 28| 71
3|Tobias |Lindfh 62| 6(3|6[4| 12| 6|4|6|2(6|3(6|4| 16| 4| 3| 46| 25| 28| 71
4|UIf Mortensen 4|1 2(5(314|3| 7| 6|/4|6|2(6|3|6[4| 22| 5| 3| 42| 24| 29| 66
Polishuset falt 29/9 2015 Klass A/R

1|Peter Hjortstam 62| 6[3|6[4] 19| 5|3(6|2(6|3[5|3|18|6(4| 46| 24| 37| 70
2|Kristian |[Gunnarsson |4 2(4|2|5|4| 12 5| 3|5|2|4|3|6|2| 14| 5| 4| 38| 22| 26| 60
3|UIf Mortensen 5(2|15(3|6[4] 9| 3|2(5|2(4|2(4|3| 9|5|4| 37| 22| 18| 59
4|Tobias |Lindfh 2(114|3|4(3| 9| 4|3|4(2|4|3[3|3| 5|3|3| 28 21| 14| 49




